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1D pull distribution
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diff_bpm12Y (nm) 1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution

+0.02984

0.2272 +0.0211

0.004848

Mean
Std Dev

Underflow

Overflow

2.772e-08/0
36.02 +6.30

X2 / ndf
Constant

-0.2825 +0.2735
0.4855 +0.1519

Mean
Sigma

OIII

o n
N -

10

[Te}

X2/ ndf 2.996 /57 }
0 3.623 + 21.79

p

g_bpm4aX (ppb)

corr_us_av

o
<

o
(52}

o
N

°
@
11 _____ _____ ___4¢|T++4¢|T.i+4¢IT+++A _____
o o o o [S) o

o
—

oot e e g

-100

S
&



g_bpm4aX RMS (ppm)

corr_us_av

€'19ey
2'L9eY
T'L9ev
0',9ey
099ey
T'S9er
0'99eY
€VoEY
voey
Tvoey
0'voEY
v'eoey
ey
C'E9EY
T'e9Ey
0e9ey
€eoey
[ax4ciog
r4ciong
0'¢coey
v'19eY
€T9EY
¢'T9EY
T'T9EY
0'T9EY
7'09eY
€'09ey
209y
T'09er
0'09eY
£65ey
2'65EY
p1 6GEY
0'6SEY
'8seY
£'85EY
¢'8sey
T'8sEY
0'85EY
¢'LSey
ASto 4
[OActo 4
£'95eY
2'9seY
T'9sey
0'9sEY
ogeistong
2'SseY
T'sser
0'sseEy
ersey
cvsey
Tvsey
o'vsey
£'esey
2'esey
Tesey
0'esey

(wdd) sny



1D pull distribution
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corr_us_avg_bpm1X (ppb) 1D pull distribution
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1D pull distribution
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corr_us_avg_bpm16X (ppb) 1D pull distribution
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g_bpm11X RMS (ppm)
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g_bpm1lY RMS (ppm)
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g_bpm8X RMS (ppm)
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1D pull distribution

Mean 0.003617 + 0.08467

] Std Dev 0.6448 + 0.05987
Underflow 0

Overflow 0

] X2 I ndf 4.812/3
Constant 17.81+3.30

1 Mean 0.07521 + 0.09482
Sigma 0.6424 +0.0868
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1D pull distribution
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1D pull distribution
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pm4aX RMS (ppm)
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